20248 & 2014t

SN S AITHAE D}
I-Iil-l E/\letéF
chol: RrR|HE 4

BB A S AITH A4 2t

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL TH24 10 30,161,475 39,265,562 A9,104,087
= 5,564,000
== 914,000
Al 23,683,475
SAIDHE 25,969,882 36,421,804 210,451,922
= 5,564,000
< 914,000
Al 19,491,882
el a8 76,640 78,640 22,000
CAEE 8,640 8,640 0
202 04l 8,640 8,640 0
01 2LHoIH 8,640 8,640 0
OEADNE2SE HIEF 8,640
e[ HE A 68,000 70,000 /2,000
201 er23| 63,000 23,000 40,000
01 AtR2t2|HI 63,000 23,000 40,000
Odgt==H| 5,000
—SAASH MY 722 22F 5,000
O=2g=+d 18,000
—ZAAHERES Bl d
100,000& x 152 %122 18,000
OZels9l 40,000
—SAARIEEMA(PIS) [A2e] Y 40,000
202 04l 3,000 3,000
01 2LHoIHI 3,000 3,000
OZAlZeIAHE HR= 3,000
203 HR=AH] 2,000 2,000
03 A= PR FAI| 2,000 2,000
OEAIZeAHE =& 2,000
AR 11,822,970 12,518,393 A\695,423
[ 4,674,000
= 914,000
Al 6,234,970
CANY gdal 1,102,630 1,481,733 A379,103
101 @124H| 504,894 278,177 226,717
04 JIZtNZ22 NS+ 504,894 278,177 226,717
OZAITH X 2 AES E 56,754
—JlZ2s 3,103,200& ~ 128 37,239
— ¢ x=g 121,424 128 1,458
—5d2F+
15, 1782 150%* 16A1 2t * 122 4,372
—Zl2F+E
15,1783 »150%+30A1 2+ 12 8,197




2A:

S AIRH A4 D

M SADHY
Chel: SAITHA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—E&3 3,907,630 13 3,908
—E34l 62,6003 * 12 752
—2HAH| 3,000 =23 * 128 828
OZAMNEXHHE M=, SHEXHE
& 144,153
—JlEs 2,611,000& «12&~3H 93,9%
— %X 102,584« 12«34 3,64
—5E2F=E
12,8233 *150%* 16A| 2+ x 122 +3H 11,080
— =22+
12,8233 *150%+30A| 2t 122 +3H 20,774
—EX= 3,290, 1603 + 1 +3H 9,871
—E34l 62,6002 x122+x38 2,24
—2HAHI 3,000 +x232 x 128 +3d 2,484
OEATHMHERZLE & 303,987
—JlEs 2,349,400 128 x7'H 197,350
— %X R,570 122 +78 7,776
—FE2F=E
11,5713 % 150% 16A| 2+ 122 +7H 23,328
— =22+
11,5713 *150%+30A| 2H+ 12 +7H 43,739
—EX= 2,962,670« 1 +7H 20,739
—E34l 62,6002 x 12 +7E 5,259
—2tA| 3,000 2312 +7H 5,7%
201 2= 68,236 63,556 4,680
01 At22telt] 47,236 47,236 0
O=2g=+¢ 4,680
—CANYAES 2o =&
130,000 x 152 *23] 3,900
—JIZHMl 224 WE °E =&
130,000 3 »23] 780
Oget=ZH| 42,556
—HEMRES 200,000& «37H*12& 7,200
—E82= 5,000,000& 22 10,000
—cIEH, AKX 5,000,000& 22 10,000
— S =2AE 50,000 *2I1x102] 1,000
—0IS2 A& AEotM 2L HE
198,000« 12& 2,376
—0I5= A2 sZJerd 2
165,000& * 122 1,980
—ANE==X2 10,000,000& * 14! 10,000
02 35244l 21,000 16,320 4,680
O882= £ HA 21,000
—0IS2 AME=S dJIRes
1,300,000& 122 15,600




2A:

S AIRH A4 D

B CADNY
Chel: SAITHA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—0IS2 ME=S Stks
300,000 * 122 3,600
—0Is2 ME= dotrERs
150,000& 122 1,800
203 =] 1,000 1,000
03 A=A 2= 1,000 1,000
OEANYHS =& 1,000
207 ARl 126,000 136,000 10,000
01 HESHI 126,000 136,000 10,000
OZAMEHMEHNE AHH WS Y 18,000
OZAMY A& (=2 HE M) 9 18,000
OZAIM HEAE 2EXNEES 18,000
OEAIY SoteIZH2EEd 18,000
OZANY BHH=M2ESH 18,000
OZAITA HEZ ISHINLESH 18,000
OZAIMY DHIENEES 18,000
401 AIEHIZL SR 0HYI 402,500 1,003,000 600,500
01 AlZ8| 400,000 1,000,000 600,000
OJt=s HESERX EH SA 400,000
03 Al 20HHI 2,500 3,000 2500
OZAME7EAE =L 2,500
2SS TANY SE ALY 10,177,340 4,026,660 6,150,680
= 4,374,000
< 875,000
Al 4,928,340
101 @124H| 221,762 217,863 3,899
M ORINZZENSE S 221,762 217,863 3,899
OEANYHSXN A S 48,054
—Jl2= 2,611,008 «12& 1 31,332
— g xt=g 102,5843 128 ~1H 1,232
—F2=22=+E
12,8233 #1500 16A| 2+ + 122 x1H 3,694
—=2F+E
12,8233 *150%+30A| 2+ 12« 1H 6,925
—EX= 3,290, 1602« 11 3,291
—=3l 62,6003 1221 752
—2HAlH| 3,000 232 12@ «1H 828
OZANYHSXAHME EH 173,708
—Jl2= 2,349,400« 12& »4H 12,772
— %X R,570 124 4,444
—F222+E
11,5713 % 150% 16A| 2+ 12 x4H 13,330
—=2F+E
11,5713 %150%<30A| 2t x 12 «4H 24,994




2A:

S AIRH A4 D

M SADHY
el TAITHA (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—EX= 2,962,670« 18 %4 11,851
— &5 62,6002 #1221 %42 3,005
—2kAlY] 3,0002 x232 * 122 x4 H 3,312
201 =3 19,400 19,400
01 At22t2l] 19,400 19,400
SATHERHE X HHEH 29 19,400
—HEMRES 200,000 122 2,400
—E82= 5,000, 0003 *141+22] 10,000
—cIEAH, 44K 3,000,000 x14%22] 6,000
— S =2HE 50,0002 *2I1x102] 1,000
207 ARl 600,000 300,000 300,000
s 185,000
Al 415,000
01 H1E4H] 600,000 300,000 300,000
OFodadsing, LLEHE S 600,000
= 185,000
Al 415,000
301 EtE2 NS 3,000 3,000
11 #AIAHIXIE S 3,000 3,000
OH=2s TAIMY=2 ZOUA 3,000
307 212+01& 210,000 40,000 170,000
= 100,000
Al 110,000
02 LB HAHE L 210,000 40,000 170,000
OEAN Y2 B DA 90,000
= 10,000
Al 80,000
OdEsHEZ =Y 120,000
[ 90,000
Al 30,000
401 Al HIZL S 0HYI 8,034,178 1,145,397 6,888,781
= 3,000,000
=S 875,000
Al 4,159,178
01 AlZ28| 7,032,178 1,144,397 5,887,781
428 TANYOISS A 7,032,178
[ 2,500,000
= 875,000
Al 3,657,178
02 Zeltl 1,000,000 0 1,000,000
OHES TAMAOISSAY Zel 1,000,000
[ 500,000




2A:

S AIRH A4 D

M SADHY
Chel: SAITHA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 500,000
03 AlESTHYI 2,000 1,000 1,000
OHES TAMYEFEAE =8 2,000
403 TR SHMSAH=01H 1,089,000 2,300,000 A1,211,000
= 1,089,000
02 SISOt 2 X A E A I 1,089,000 2,300,000 A1,211,000
OAHEMNEAE 2E 1,089,000
[ 1,089,000
=R CAL FHAS HE02AH HEAE 428,000 0 428,000
[ 300,000
= 39,000
Al 89,000
207 ARl 100,000 0 100,000
= 70,000
[ 9,000
Al 21,000
01 H2ESHI 100,000 0 100,000
OOtAHZd 8 89 100,000
s 70,000
== 9,000
Al 21,000
401 Al HIZL 201 328,000 0 328,000
s 230,000
== 30,000
Al 68,000
01 Al&HI 328,000 0 328,000
Odg AY el=Zet =4 328,000
= 230,000
= 30,000
Al 68,000
orclginid sxl2el 25,000 25,000 0
201 223 25,000 25,000 0
01 At22t2lt] 25,000 0 25,000
OotelgnuHZ sz X2 25,000
SUxA SEMHE £ 90,000 90,000
207 ARl 90,000 90,000
01 H1E4H] 90,000 90,000
Os2xd Sl tHad 358 89 90,000
SAAHEER 13,012,000 23,325,000 210,313,000
[ 890,000
Al 12,122,000
LI-SS=Itatet HHAIE gAY 3,500,000 5,588,000 /2,088,000




2A:

S AIRH A4 D

I-I;_(H: EA']HUF
el SAIHEE=Z EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 890,000
Al 2,610,000
401 Al HIZL 01| 3,500,000 5,588,000 22,088,000
= 890,000
Al 2,610,000
01 Al&H| 3,200,000 4,588,000 1,388,000
OUL==0tater HAAIE 24 (L=360.0m, B=15.0m) 3,200,000
= 890,000
Al 2,310,000
02 Zeltl 300,000 1,000,000 A700,000
OLt==Jra e AAAIE =4 300,000
A2 W~BHIHF OHIE 2t SAIHEER 3,200,000 3,000,000 200,000
401 Al HIZL 201 3,200,000 3,000,000 200,000
01 Al&H| 3,200,000 3,000,000 200,000
OaZu~sRIHE 2t TAIHEEZ HE (LA,
600.0m, B=25.0m) 3,200,000
ws2e|~Iil2 OHIFEZ ZAIHE =24 900,000 500,000 400,000
401 AIEHIX 20HH 900,000 500,000 400,000
01 AlZ2H| 900,000 500,000 400,000
Ous2el~Id|2 OHIIEZ SAIHEEZ
JH& (L=465.0m, B=8.0m) 900,000
Hes 482 SAHEER EH 500,000 500,000
401 Al HIZL S 0HYI 500,000 500,000
01 Al&HI 500,000 500,000
OUes A82 TAHZEE2 FHI(L=160.0m, B
=12.0m) 500,000
otd XOIHEDIE & SAHEEZ HE ALY 400,000 100,000 300,000
401 AIEHIX R0 400,000 100,000 300,000
01 A28l 400,000 100,000 300,000
Ottg XNOIHEDE & SAAHEE=Z HE(L
=160.0m, B=8.0m) 400,000
IEs EFAU3R TAHEEZ HEAMY 500,000 0 500,000
401 AIEHIZ SR 0HYI 500,000 500,000
01 Al&H| 500,000 500,000
OI=s S4B TAHEZZ HWE(L=30
.Om, B—1 .0m) 500,000
21 AMuiE &bl 1,000,000 0 1,000,000
401 Al HIZ S 0HbI 1,000,000 1,000,000
01 Al&H| 1,000,000 1,000,000
O2=w UMWIZE FHI(A5,878m") 1,000,000
JENZ NS L2 e 500,000 0 500,000
401 Al HIZ R 0HbI 500,000 500,000
01 AlZ28| 500,000 500,000




A SAITHAE D

X-I;_(I-I: E/\leUF

29l EAAHER (crel: &8
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZLRZU=E 232 & (L=420.0m, B=10.
Om) 500,000
=98 NSAEHE SAIAEEZ & 500,000 500,000
401 AlEHIKL =] 500,000 500,000
01 A28l 500,000 500,000
OJt=98 NSTH2HH =8 TAHECR
AHI(L=240.0m, B=8.0m 500,000
IR uXE HX3d =4 500,000 0 500,000
401 AlEHIZ SO 500,000 500,000
01 Al&HI 500,000 500,000
OJl=2duxtzE 8XS3 &4 500,000
24 1,512,000 1,212,000 300,000
203 gR=| 2,000 2,000 0
03 A= PR FAI| 2,000 2,000 0
OEAHEER =4 FRFX 2,000
401 Al HIZ S OHbI 1,510,000 1,210,000 300,000
01 AlZ2H| 1,500,000 1,200,000 300,000
Oxz Y HHAEES HES(ZAHE S
ANEHERZ, on‘|) 300,000
OZAHEZZ 0I=2EX24 300,000
OZAAHEEZ AAEAHEAI 200,000
OZAAEEZ HE A 700,000
03 AIZ 2 0HHI 10,000 10,000 0
OEAAHEEZAY FX 10,000
Alg2el 1,068,272 499,771 558,501
CRAIES2e 1,068,272 499,771 558,501
101 @124H| 74,890 64,091 10,799
M ORIMZZ2NSE S 74,890 64,091 10,799
OJ=XGHRE (H4) H4E R &2 2
2 2t 11,661
—Jlzs 78,8802 x 100« 1H 7,888
—=x==g 78,8803 * 162 *1H 1,263
— ¢ x==g 78,8803 »4 L x1H 316
—5L22+H
78,8803 *1.541x 1621 1,894
— 2| 3,000 %100 +18 300
O&JXGHAE =& sX2el 6.846
—JlEs 78,880 601 4,733
—Fi==g 78,880« 02«1 710
— %X 78,8302 x2Z 1 158
SOl ACH
e 78,8802 *1.541x 02 x1H 1,065
—2HAlH| 3,000 60+ 1 180




A SAITHAE D
M SADHY
Chel: Ald el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot MEHIE 22l 49,458
—Jlz= 78,8803 x210d x2H 33,130
—F i 78,8803 x36 2 x2H 5,522
—Qixtagt 78,8802 82 %22 1,263
—FYUR2sy
78,8803 *1.541+362x2H 8,283
— 2| 3,000& 210 +2& 1,260
OoUg =Hze |z 6,925
-|1=3 78,8802 +602*1% 4,733
— Ry 78,8802+92+1%4 710
—oixag 78,8802 +321+124 237
—_SolaOo ACH
Tt 78,8802 *1.541x02x1H 1,065
— Al 3,000&+60*1d 180
201 el 231,900 225,680 6,220
01 At2telt] 27,700 28,480 AT80
Oggt=3=H| 17,700
—OHHMENGIE 2tel, TAIDHEAE &
2 NMNRES 14,700
LolFHIAIAE =2l 2,400
—oid 22A EEF FY 600
Oogxt= 10,000
—NANEZ FA2LS FHISR 10,000
02 S3=gHl 204,200 182,200 22,000
O332= € MAl 163,000
—HIILS(HEMENGIE Ll 3HA) 147,000
—OCTVES A S (HHMEHGIHE 2 1IHA) 6,000
OgaEH| 1,200
—XIoHAtE Blafg &I 2l 1,200
OAIE2EbBI= X 50,000
— o™ MENGIA, KIotRt=, RHEAF=RE2
2l 40,000
—oHHMENSIE dojerMa2e| e 10,000
206 M=l 5,000 5,000
01 M=4l 5,000 5,000
Othd ZsteS(EN3) 5,000,000& 5,000
307 @I2t01 & 55,000 55,000
06 28= 55,000 55,000
OAZIRAEA 2 It 55,000
401 Al HIZL 201 691,482 691,482
01 Al&H| 691,482 691,482
OAl&H| 691,482
—NHEAEZ FHI(L=150.0m, B=3.0m) 100,000




2A:

S AIRH A4 D

B CAfE
Chel: Ald el EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
—XIotRtE CCTV & 2tHAIAE A= 200,000
—UYAD B2 HFY NYSANHZ 0/
(2e) NE=2E3 391,482
E2XY 1,662,063 2,682,035 1,019,972
E2XE 22l 1,662,063 2,682,035 A1,019,972
rZ2ets sXl2el 1,662,063 2,682,035 A1,019,972
201 L2 215,841 210,979 4,862
01 AtR2telbl 41,246 36,667 4,579
Oget==ZH| 39,230
—IJIE2S SF ¢EAH A&sE
9,020&+1,7172 15,488
—JI2S 28 AT &
53,5702 *3740H 20,036
—2os SF AEAH A2
21,8003 *1512 3,306
—agotagAae] 28 F
400,000 *14] 400
O=gHtl 2,016
—S¥ESs sS4l
8,000 +7Alx 128 %39 2,016
02 2324l 174,595 174,312 283
0332 € MAl 27,079
— e MUAIAE SAAEE
1,100& «162CH« 122 2,139
—we AAXE MRS
2,000,000& « 128 24,000
— NSIHAl 60,0003 *2CH 120
—SZHHRES 120,0002 %12 120
—NsXHEE= 350, 000& *2CH 700
Oxtgrdet] 12,220
— ==l 1,7003+50 £ +73|+12& 7,140
—&Hldl 2,500,000 2CH 5,000
—&JIZ A 40,000 2CH 80
OAZZ IS X 135,296
—Jt2 . 2ots HJI8E RHEAIE M=
210,000& %16, 737 H*2% 70,29%6
—dAxrH . BES 7AE>
60,000,000 * 14! 60,000
—JI2 .20t 2elAIAE RS+
5,000,000 * 14! 5,000
202 04| 2,100 2,100
01 =LHA b 2,100 2,100
OJtz . 2ets g 2,100
206 =4I 203,122 202,956 166
01 =4l 203,122 202,9% 166




A SAITHA T
. T2XY
Belr E2XE 2 EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OJI2.2otS 4K 208,122
—LEDS 712 (50~150M)
450,000 %11, 7749H%0. 5% 26,492
—LEDZH HH 4 (50~1500)
100,0002 % 11,7747H%0. 5% 5,887
—COM24 =X (70/150W) 35,0002 *6,0597H*15% 31,810
—CDMRHE D1 (70/ 150M)
35,0002 *6,0597H*15% 31,810
—0PS 2otS RLIE
70,0002 %11, 47574 *8% 64,260
—CPS 20otS &I
100,00024*11,4757H*2% 22,950
—JI=S 2L
500, 00024 *37424 % 1% 1,870
— S RPEDI(24=3/15A/30A)
20,0002 %16, 7374 %% 10,043
—&& L EHXH(0B)
6,000,0002*14] 6,000
—HUBP Y HESP
2,000,00024*14! 2,000
401 AIZHIZL S THY 1,241,000 2,266,000 1,025,000
01 Al&H] 1,238,000 2,263,000 1,025,000
SHE 2oS &X(H SUS) 500,000
—HotS 43X 1,250,0002 *4000H 500,000
Ok® JI2.20ts ZEie (& SHS) 550,000
—Jl2.2otsSD|? ZEOHA Y FH
1,929,824 x285)H 550,000
OJ=2 . 2o 2ATE4(SIIH) 88,000
—S 012 2 793 88,000,000 *14! 88,000
ONZS ZAHOAIAE (LYE) 2=
100,000,002 %14} 100,000
03 Al 3,000 3,000 0
OJt2. 2ot 41X ¥ |
3,000,000 % 14! 3,000
HYSLBHI(ZAITHADL) 171,530 161,723 9,807
ol 2| 71,540 68,717 2,823
ol 2| 71,540 68,717 2,823
101 QI2AH 71,340 68,517 2,823
0B SR (IH ) 222+ 71,340 68,517 2,823
OJt2.2ots 22/ 71,340
-J|=23 3,727,080 * 122 * 1 44,725
-3 7,088
e
29,5302 x20AI 2+ 1224 7,088
—NRFASY 150,000 * 122 *1% 1,800
—ZyLG 866,920 122 *1H 10,404




SAM: T A
. HYS2IZUI(TAITHAE DL
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—fEgse 40,0003« 12 1Y 480
—E== 480
B XH(1H) 40,0003« 123 +1Z 480
—YEFOHI 3,727,080 *60%*1H +23| 4,473
—x=g 157,496 122 «1H 1,890
201 2| 200 200
01 AtR2telt] 200 200
Oul=t| 200,000 *x1H 200
JlE23| 99,990 93,006 6,984
Jl=2Z| 99,990 93,006 6,984
201 B2 AY| 28,740 26,940 1,800
01 A=R2teld| 28,740 26,940 1,800
EM29 J|2Z&Hl 28,740
202 0441 67,050 61,866 5,184
01 =2LHO4 ] 67,050 61,866 5,184
O=LoYI 67,050
203 PYRF=&Y| 4,200 4,200
M EAN2IHRFA| 4,200 4,200
ORNEZZE RFA| 4,200
MNWLES(ZAITHAY 1) 2,358,000 0 2,358,000
PSP 2,358,000 0 2,358,000
=FSONES 2,358,000 0 2,358,000
311 XL S0 Krakst 8,000 0 8,000
03 SLZ XS0 Atatst 8,000 0 8,000
O ATHAAIY = AIDIZ0IXHAR)
4,000,000 x201 & 8,000
601 Xt =2 S4H& 2,350,000 2,350,000
03 SLEIXUIAS &S 2,350,000 2,350,000
OZAITHAAIRY FEHTAD|SAZAEH(AR) 2,350,000




